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Exercice 1

Cocher les bonnes réponses :
81 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
880 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U par 10
351 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
325 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
82 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10

Exercice 2

Cocher les bonnes réponses :
115 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
189 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
234 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
142 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
400 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 3

Cocher les bonnes réponses :
840 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
375 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
99 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
93 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
30 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
495 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
186 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
800 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
145 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
112 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
140 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
194 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
144 est divisible : L] par 2 Ul par 3 L par 5 L] par 9 U] par 10
255 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
612 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
890 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
110 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
237 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
513 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
75 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
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